
 

 

ΘΕΜΑ 2 

Δίνεται παραλληλόγραμμο ΑΒΓΔ και Μ, Ν τα μέσα των πλευρών του ΑΒ και ΒΓ αντίστοιχα. Να 

αποδείξετε ότι: 

α) (ΑΒΓ) = (ΑΓΔ) =
1

2
(ΑΒΓΔ)                                                                                         (Μονάδες 8) 

β)  
(ΒΜΝ)

(ΑΒΓ)
=

1

4
                                                                                                                     (Μονάδες 12) 

γ) (ΒΜΝ) =
1

8
(ΑΒΓΔ)                                                                                                          (Μονάδες 5) 

 


